Section 1.1

1. Correct Answers:
o —32
e —3

3. Correct Answers:

o —11
e —9
e —10

5. Correct Answers:
o —7
e 8
e 0

7. Correct Answers:
o 4
5
e 0

9. Correct Answers:

e —3
e 3
e —9

11. Correct Answers:

e —5
o —12
o —12

13. Correct Answers:

e 3
e -3
e 0

15. Correct Answers:

30
-8
=35
0

17. Correct Answers:

e —36
e 160
e 0

19. Correct Answers:

e 8
e -3

21.

23.

25.

27.

29.

31.

33.
35.
37.
39.
41.
43.
45.

Correct Answers:

e 10
e —6
o 4

Correct Answers:

10

-5

-1

1
undefined
0

Correct Answers:

e 9
e 64
e 25
e —64

Correct Answers:

1
—1
1

Correct Answers:

o9
e —100

Correct Answers:

o —1

e -8
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

—25.04
4.47
7.37
—73.95
15.01
$1,730
1720 ft



Section 1.2

1. Correct Answer:

3. Correct Answer:

S. Correct Answer: —53

=S

\l‘m

7. Correct Answer: —20

9. Correct Answer: =~

11. Correct Answer:
13. Correct Answer:
15. Correct Answer:
17. Correct Answer:
19. Correct Answer:
21. Correct Answer:
23. Correct Answer:
25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:
33. Correct Answer:
35. Correct Answer:
37. Correct Answer:
39. Correct Answer:
41. Correct Answer:
43. Correct Answer:
45. Correct Answer:
47. Correct Answer:
49. Correct Answer:
51. Correct Answer:
53. Correct Answer:
55. Correct Answer:
57. Correct Answer:

59. Correct Answer:
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61. Correct Answer:
63. Correct Answer:
65. Correct Answer:
67. Correct Answer:
69. Correct Answer:
71. Correct Answer:

73. Correct Answer:

150



Section 1.3

1. Correct Answer: 7 27. Correct Answer: not a real number
3. Correct Answers: 29. Correct Answer: not a real number or 0.375i
°> 31. Correct Answer: =8
e 5 11
e -5 33. Correct Answers:
[ ] —5 ° 8
S. Correct Answers: < 12
o7 35. Correct Answer: %
o 1
e 0
e 9
° 2

7. Correct Answers:

e —4
8
e —8

9. Correct Answer:
BDF

11. Correct Answers:
e 4
o 11
e 9

13. Correct Answers:
o

5
e DNE

15. Correct Answers:

e 9
e 09
e 90

17. Correct Answers:

o 12
e 120
e 1200

19. Correct Answers:

o 2
e 0.2
e 0.02

21. Correct Answer: 6.16441
23. Correct Answer: %

25. Correct Answer: —11



Section 1.4

1. Correct Answer:

3. Correct Answer:

5. Correct Answer:

7. Correct Answer:

51
20
36
16

9. Correct Answer: 35

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.
59.
61.

Correct Answer

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

08

19
—25
39
1
17
22
96
1
44
50
51
120

[ I ]
S

Sla

63.
65.
67.
69.
71.
73.
75.
77.
79.
81.
83.
8sS.
87.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

93

10

=l

DN — \O‘

—11
—-21

15

—58
=78



Section 1.5

1. Correct Answer: {—2,2}
3. Correct Answer: {16,25,36,49,64,81}

5. Correct Answer:
DG

7. Correct Answer:
CEGH

9. Correct Answer:
ABCEGH

11. Correct Answer:
DG

13. Correct Answer:
ABCDEFGH

15. Correct Answers:
T

e o6 o o o
e e I L |

17. Correct Answers:

DNE or NONE

anyof —1,—-2,-3,...
many possibilities: %,2.3, e

many possibilities: v/2,, ...
DNE or NONE

19. Correct Answer: %

21. Correct Answer: %

23. Correct Answer: %



Section 1.6

1. Correct Answer: 9 >7> —-5> —-8> —10

3. Correct Answer: 7.22 > —3.28 > —3.51 > —4.42 >
—-9.98

5. Correct Answer: 8 >7>5 > ? > %

7. Correct Answer: 9> 6>T > /2> % > %

9. Correct Answers:

o True
False
False
True
True
True

11. Correct Answers:

False
True
False
False
True
True

13. Correct Answer: <
15. Correct Answer:
17. Correct Answer:

19. Correct Answer:

NN VOV

21. Correct Answer:
23. Correct Answer: =

25. Correct Answer: True



Section 1.7

1. Correct Answers:

o {x|x>—4}
° (—4700)

o {x|x<—1}
hd (7°°771)

e {x|x<0}
b (—00,0]

3. Correct Answers:

e {q|lq>—-15}
° (—1.5,00)

5. Correct Answers:
e {r|t>0.5}
e [0.5,)

7. Correct Answers:
e {A|A<2}
° (—00,2)

9. Correct Answers:

e {plp<4}
o (—oo,4]

11. Correct Answer: (—eoo, —6]
13. Correct Answer: [—2,00)
15. Correct Answer: (

17. Correct Answer: (

19. Correct Answer: (—o0,—9)
21. Correct Answer: (

23. Correct Answer: [1,00)

25. Correct Answer: (5,00)
27. Correct Answer: (X2, e0)
29. Correct Answer: (—oo,—2]
31. Correct Answer: (—eo,0)|



Section 1.8

1. Correct Answers:
o —23
o7

3. Correct Answers:

e 9
e —10
e —5

5. Correct Answers:
e —64
o —1

7. Correct Answer: —

o= Gl

9. Correct Answer: —

11. Correct Answer: —%

13. Correct Answers:
o —7
o 11
e —14

15. Correct Answers:

3
®3

e DNE

17. Correct Answer: —13

19. Correct Answers:
o
o
[ IR

21. Correct Answers:
e DNE or NONE
e anyof —1,-2,-3,...
e many possibilities: %72.3,...

DNE or NONE

many possibilities: V2,7, ...



Section 2.1

1. Correct Answer:
3. Correct Answer:
5. Correct Answer:
7. Correct Answer:
9. Correct Answer:
11.
13.
15.
17.
19.

21.

23.

25.

27.

29.

31.

33.
35.
37.
39.

Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

e 9
e 16

6

14
37
—15
—54

|
w
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\O‘Lll N—  oo\o
Who

Correct Answers:

Correct Answers:

o 27
e —8

Correct Answers:

e 20
e 100

Correct Answers:

e —9
o 27

Correct Answers:

o 4
e 8

Correct Answers:

e 16
e —064

Correct Answers:

e 16
o 12
o —8
e 384
Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer: T

3
45
48

70
19

41.
43.
45.
47.

49.
51.

53.
55.
57.
59.

61.
63.
65.

67.
69.
71.
73.
75.
77.
79.

Correct Answer:

I R~

W Slw

Correct Answer:

Correct Answer: 1

Correct Answer: — %

|

Correct Answer:

w
—

Correct Answers:

e 120 m?
e 46 m

Correct Answer: 105 ft2
Correct Answer: 7560 in?
Correct Answer: 103.5 m?

Correct Answers:

e 8T m

e 25.13m
e 161 m?
e 50.27 m?

Correct Answer: 50286 in3
Correct Answer: 1638 in3

Correct Answers:

e 3241 m3
e 1017.88 m?

Correct Answer: 237.5 m
Correct Answer: 10 degC
Correct Answer: 14400
Correct Answer: 33%
Correct Answer: 85
Correct Answer: 15 ft

Correct Answers:

e 2.94 ft
e 2.58 ft



Section 2.2

1. Correct Answer: Yes

3. Correct Answer: Yes

5. Correct Answer: Yes

7. Correct Answer: Yes

9. Correct Answer: Yes

11. Correct Answer:
13. Correct Answer:
15. Correct Answer:

17. Correct Answer:

No
No
Yes

Yes

19. Correct Answers:

is not
is

is not
is not

21. Correct Answers:

e is not
e is
e is not
e is

23. Correct Answers:

e is not
e is

e is not
e is

25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:
33. Correct Answer:

35. Correct Answer:

37. Correct Answer:

Yes
Yes
No
Yes
Yes
No

Yes

10



Section 2.3

1. Correct Answer:

3. Correct Answer: {

5. Correct Answer: {

7. Correct Answer: {

{9}

-5}
—6}
—4}

9. Correct Answer: {—41}

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
55.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

Correct Answer: {(—37/6)}

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

Correct Answer: {(—80/63)}

Correct Answer:
Correct Answer:

Correct Answers:

o {4}
o {12}

{10}
{2}
{4}
{8}
{=9}
{2}

{0}
{(5/22)}

{8}
{9}
{0}

{60}
{39}
{(16/7)}
{(=5/2)}
{(=1/2)}
{-4}
{36}

{63}
{45}
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57.

59.

61.

63.

65.

67.

69.

71.

73.

75.

77.
79.
81.
83.

Correct Answers:

. (-4)
o {45}

Correct Answers:

o {20}
e {20}

Correct Answers:

e {—63}
e {63}

Correct Answers:

e {—10}
e {10}

Correct Answers:

o {4}
 {(13/8)}

Correct Answers:

o {5}
o {(-13/8)}

Correct Answers:

e 10 mm
e 5mm

Correct Answers:

e 13.69 cm
e 6.84 cm

Correct Answers:

e 18 mm
e 9mm

Correct Answers:

e 10.19cm
e 5.09cm

Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

4m
26 mm
8 ft
17m



Section 2.4

1. Correct Answers:
o {x|x>4}or{x|4<x}
o (4,)

3. Correct Answers:
o {x|x<13}or{x|13>x}
° (—00713]

5. Correct Answers:
o {x|x>-5}or{x|-5<x}
d [_5700)

7. Correct Answers:
o {x|x<8}or{x|8>x}
i (—0078)

9. Correct Answers:
o {x|x<3}or{x|3>x}
d (_°°’3]

11. Correct Answers:
o {x]x> g}
6
o (5.
13. Correct Answers:

o {x|x<—-2}or{x|-2>x}
° (—txv,—Z]

15. Correct Answers:
o {x|x>—-3}or{x|-3<ux}
hd [*33‘”)

17. Correct Answers:
o {x|x<—=3}or{x|-3>ux}
hd (_007_3)

19. Correct Answers:

o {x|x>—-5}or{x|-5<ux}
b [*va)

21. Correct Answers:
o {x|x>20}or{x|20<x}
. (20,%)

23. Correct Answers:
o {x|x>—-32}or{x|-32<x}
o [—32 )

12

25.

27.

29.

31.

33.

35.

Correct Answers:
o {x|x>—6}or{x|—-6<ux}
hd (_6’00)

Correct Answers:
o {x|x< 10} or {x| 10> x}
d (—oo’ 10)

Correct Answers:
o {x|x>—-3}or{x|-3<ux}
b (_37°°)

Correct Answers:
o {x|x<4}or{x|4>x}
b (_°°a4)

Correct Answers:
° {x | x < 36}
b (_00536}

Correct Answers:

o {z|z>42}
o (42,)



Section 2.5

1. Correct Answer: 20.1

3. Correct Answer: 435

5. Correct Answer: 1350

7. Correct Answer: 40%

9. Correct Answer: 200%

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.

49.
51.
53.

Correct Answer: 21.62%
Correct Answer: 970
Correct Answer: 270
Correct Answer: 470
Correct Answer: 1400
Correct Answer: $51.52
Correct Answer: 20%
Correct Answer: 30%
Correct Answer: 345
Correct Answer: 3.12%
Correct Answer: 31%
Correct Answer: 17300
Correct Answer: $26,100.00
Correct Answer: $39.00
Correct Answer: 75 g
Correct Answer: 15%
Correct Answer: 46.67%
Correct Answer: 0.15%

Correct Answers:

o $31,680
o $32,947.20

Correct Answer: 10.4%
Correct Answer: $395,178

Correct Answer: 400

13



Section 2.6

1. Correct Answer: s+0.018s = 49882

3. Correct Answer: p—0.25p = 195

5. Correct Answer: p+0.002p = 801.6

7. Correct Answer: 0.62m+25.65 = 103.77

9. Correct Answer:

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer: z

2900 __ ¢t

2000 — 1600

Correct Answer: 8.3454g + 86 = 2900

100+ 6m = 160
r—=6

b—-9

2—-B

n+5

8+x

t+1

5¢-9

8m—17

sl G

L [

Sx+21 =236
Tt—2=194
2c+4=82

4(C+3) =64

14



Section 2.7

1. Correct Answers:

9

8

16
—125

3. Correct Answers:

e 25
e —36

5. Correct Answers:

o —1
o —64

7. Correct Answer: 23

9. Correct Answer: 413

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.

33.

Correct Answer: 120

Correct Answer: r?’
Correct Answer: 191
Correct Answer: x**
Correct Answer: 125¢3
Correct Answer: 83>
Correct Answer: 64t°

Correct Answer: —40y*°

10
Correct Answer: 45

Correct Answer: —32r5
Correct Answers:

o 64m'?

o —64m!?
Correct Answer: 9x%*

15



Section 2.8

1. Correct Answer:
3. Correct Answer:
5. Correct Answer:
7. Correct Answer:

9. Correct Answer:

11. Correct Answer:
13. Correct Answer:
15. Correct Answer:
17. Correct Answer:
19. Correct Answer:
21. Correct Answer:
23. Correct Answer:
25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:
33. Correct Answer:
35. Correct Answer:
37. Correct Answer: 2

39. Correct Answer:

1

7
(p+54)+q
(5+8)+y
(6-3)a
44n

16 +9n
8(47+x)
t-77
8+c-5
(b+21)-4
8p+16
—2y—16
—a—+4
12x+23
63n+17
—9x+9
3t+16

5 Tc—45

$y—8

41. Correct Answers:

e (p+b)+gq
e p+(b+gq)

43. Correct Answers:

distributive

property

[}

e commutative property of addition
e associative property of addition
[ ]
[ ]

distributive

property

commutative property of addition

45. Correct Answer:
47. Correct Answer:
49. Correct Answer:

51. Correct Answer:

T=08x+8
x? —4x
—81x%+81x

—10x3 — 100x2

53.
SS.

57.

59.

61.
63.
65.
67.
69.
71.
73.
75.
77.
79.
81.
83.
85.
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Correct Answer:

20x* — 403

Correct Answers:

e 203
[ ) C6
° C3—|—02
[ ) CS

Correct Answers:

° 75p4

° 9p8

o —3p*+2p?
° —6pfJ

Correct Answers:

o —4p*—p?
o 24p!0

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

—100y!3
_32a10m10
—7y9
—18m!3 +25m°
—464°

241%¢°

—72¢2 — 64c
—8m> —72m?
36p* +48p+ 10
7y + 52y

9a’ — 1243
68x+ 16

4x+ 135



Section 2.9

1. Correct Answer: 148.5 m?

3. Correct Answers:

e 49
e 36

5. Correct Answers:

e —3
e —3
e is

7. Correct Answer: {—9}

9. Correct Answer: {(3/4)}

11.
13.
15.
17.
19.
21.
23.

Correct Answer

Correct Answer

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

: {18
:17%

253.3333%
p+0.076p = 258.24
100+ 6m = 184
76[16

—81y* —90y?

17



Section 3.1

1. Correct Answer: {7} 59. Correct Answer: {—8}
3. Correct Answer: {—2} 61. Correct Answer: {0}
5. Correct Answer: {—8} 63. Correct Answers:

e 73m
7. Correct Answer: {—9} e 10l m

9. Correct Answer: {—2
=2 65. Correct Answer: 197

11. Correct Answer: {5} 7. Correct Answers:

13. Correct Answer: {—9} e $308
15. Correct Answer: {7} * $95
17. Correct Answer: 10 69. Correct Answer: {10}
19. Correct Answer: 310 71. Correct Answer: {5}
21. Correct Answer: 46 73. Correct Answer: {6}
23. Correct Answer: {7} 75. Correct Answer: {—6}
25. Correct Answer: {6} 77. Correct Answer: {10}
27. Correct Answer: {—5} 79. Correct Answer: {—9}
29. Correct Answer: {(—1/4)} 81. Correct Answer: {2}
31. Correct Answers: 83. Correct Answer: {10}
19} 85. Correct Answers:
o {2} . (2}
33. Correct Answer: 19 o {-12}
35. Correct Answer: 126 87. Correct Answer: {9}
37. Correct Answer: 16 89. Correct Answer: {—3}
39. Correct Answer: {3} 91. Correct Answer: {6}
41. Correct Answer: {7} 93. Correct Answer: {—5}
43. Correct Answer: {—6} 95. Correct Answer: {4}
45. Correct Answer: {—5} 97. Correct Answer: {—8}
47. Correct Answer: {10} 99. Correct Answer: {5}
49. Correct Answer: {—1} 101. Correct Answer: {5}
51. Correct Answer: {8} 103. Correct Answer: {0}
53. Correct Answer: {0} 105. Correct Answer: {—15}
55. Correct Answer: {3} 107. Correct Answer: {0}
57. Correct Answer: {—2} 109. Correct Answer: 18 cm

18



111.

113.

115.

117.

119.

121.

123.

125.

127.

129.

131.

Correct Answers:

e 15in
e 20in

Correct Answers:

o 121t
o 34 ft

Correct Answers:

o {0}

o {12}
o {—12}
e {0}

Correct Answers:

e {10}
o2

Correct Answers:
o {6}

e 24

e 3t+6

Correct Answers:

False
False
True
False
False
True
True
True

Correct Answers:
o {x|x>5}or{x|5<x}
o (5,0)

Correct Answers:
o {x|x<4}or{x|4>x}
o (—o0,4]

Correct Answers:
o {x|x<-2}or{x|-2>ux}
b Q—m7—2]

Correct Answers:
e {x|x>10}or{x|10<x}
e (10,00)

Correct Answers:
o {x|x>0}or{x|0<x}
e [0,0)
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133.

135.

137.

139.

141.

143.

145.

147.

149.

151.

153.

155.

157.

Correct Answers:
o {x|x>8}or{x|8<x}
* (8,%)

Correct Answers:
o {x|x>9}or{x|9<x}
* [9,)

Correct Answers:
o {r|t<2}or{r|2>1}
o (—0,2)

Correct Answers:

o {z|z>T}or{z|7<z}
b va)

Correct Answers:
e {ala>T}or{a|7<a}
* (7,)

Correct Answers:

e {plp<0tor{p|0=p}
o (—o0,0]

Correct Answers:

e {plp<2tor{p|2>p}
° (—4m,2)

Correct Answers:
o {x|x<—-10}or{x|—10>x}
o (—o0,—10]

Correct Answers:

o {z]z<-5}or{z]| 5>z}
o (—oo,—5]

Correct Answers:

e {y[y>-9}or{y[-9<y}
o (=9,e)

Correct Answers:
o {x|x<3}or{x|3>x}
o (—, 3)

Correct Answers:
o 40+ 3.4x<=244
e 60
e [0,60]

Correct Answers:

e 175
o (175,)



159. Correct Answers:

e $11,000.00
e (11000, 00)

20



Section 3.2

1. Correct Answer: {25}

3. Correct Answer: {32}

5. Correct Answers:

o {18}
o {18}
o {18}
o {—18}

7. Correct Answer: {12}

9. Correct Answer: {18}

11
13

15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
55.

. Correct Answer.
. Correct Answer.
Correct Answer
Correct Answer
Correct Answer
Correct Answer.
Correct Answer

Correct Answer

Correct Answer

Correct Answer

Correct Answer
Correct Answer
Correct Answer
Correct Answer
Correct Answer
Correct Answer
Correct Answer.
Correct Answer
Correct Answer

Correct Answer

Correct Answer:

Correct Answer:

Correct Answer:

: {30}
- {35}

- {30}
 {(45/22)}

- {(-13/6)}
: {35}

: {10}

: {(8/29)}
{4}

- {(35/12)}

: {84}

{8}

s {(=5/94)}
- {(~192/65)}
- {(12/35)}

- {10}

: {8}

: {18}

- {(~32/35)}
- {12}
:{(41/2)}

: {28}

{4}
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57.
59.
61.
63.
65.
67.
69.
71.

73.
75.

77.

79.

81.

83.

8s.

87.

89.

Correct Answer: {(—8/45)}
Correct Answer: {10}
Correct Answer: {90}
Correct Answer: {54}
Correct Answer: {(3/2)}
Correct Answer: {(—84/53)}
Correct Answer: {(—=77/60)}
Correct Answer: 16

Correct Answer: 14

Correct Answers:
e {x|x<50}or{x]|50>ux}
o (—o0,50]

Correct Answers:
o ly>3)
* (5:>)

Correct Answers:

o {t|t<30}
o (—o0,30)

Correct Answers:
o {x|x< 14}
hd (_oov 14}

Correct Answers:

o {z|z>54}
o (54,00)

Correct Answers:

o {x|x>—-189}
o [—189,)

Correct Answers:

o {yly<—18}
o (—o0, —18]

Correct Answers:
o {x|x>5}
® (5,)



91. Correct Answers:
o IS8x,_77
e 73
o [73,100]

22



Section 3.3

1. Correct Answers:
er=06
e y=B—x

3. Correct Answers:

e x=238
e r=7+p

5. Correct Answers:
e y=06
e x=C—-A

7. Correct Answers:

i N

o r
ey
9. Correct Answers:

e t=56
e r=>0B

11. Correct Answers:

e =5
_ A-B
[ ) X—ip

13. Correct Answers:

1N}

o X —=
o y—=

==

15. Correct Answers:

o y=p-r
o r=p-y

17. Correct Answers:
e C=A—pr

_ A-C
e p="2

19. Correct Answers:

_ YA
[ ] p = rA
)=
e 7 —
D
21. Correct Answer: x = %

23. Correct Answers:

e h=9
° b:%

25. Correct Answer: r = %

27. Correct Answers:

e t=9

o t=yp—>5y
29. Correct Answer: t = rp —rC
31. Correct Answer: x = 5a — 5r
33. Correct Answer: b= (—“A%‘””)
35. Correct Answer: x = %



Section 3.4

1. Correct Answer:
3. Correct Answer:
5. Correct Answer:

7. Correct Answer:

8

18

—16
40

9. Correct Answer: —67

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

~13
~12

—47

48 ft

35 ft

45

$368
$2,372.31
109.2 mi
$47.94
1725
$3,302.40
182
2019.6 1b

24



Section 3.5

1. Correct Answer: no solution
3. Correct Answer: all real numbers
5. Correct Answer: all real numbers
7. Correct Answer: no solution

9. Correct Answers:

e {0}
e all real numbers
e 1o solution

11. Correct Answer: no solution

13. Correct Answer: all real numbers

15. Correct Answer: no solution

17. Correct Answer: no solution

19. Correct Answer: no solution

21. Correct Answer: (—oo,00) or all real numbers
23. Correct Answer: no solution

25. Correct Answer: no solution

27. Correct Answer: (—oo,00) or all real numbers
29. Correct Answer: (—oo,00) or all real numbers

31. Correct Answer: (—oo,00) or all real numbers

25



Section 3.6

1. Correct Answers:

e {9}
e 54
o 3r+27

3. Correct Answer: {8}
S. Correct Answer: {24}

7. Correct Answers:

e {yly>—10}or{y|-10<y}
° (—10,00)

9. Correct Answers:
o {x|x<—-9}or{x|-9>ux}
4 (_°°7_9)

11. Correct Answer: y = %

13. Correct Answer: 7

15. Correct Answers:

e 24
o 88

17. Correct Answer: 9

19. Correct Answer: 59

26



Section 4.1

1. Correct Answers:

3. Correct Answer:

7. Correct Answer:

(o)}

N

(NS}

[\

B

(@)}

(@)}

o]

N

9. Correct Answer:

2 Yy
X
da | b 4
2
n X
y 4
6
5. Correct Answer:
150 | 9. Correct Answer:
|
.
%0C
5 100 150 200 250

—_
(=)

—_
S

13. Correct Answers:
o (2008,5)

27



e 9
e (2008,5),(2010,19),(2012,51)

15. Correct Answers:

III
II
v
I

17. Correct Answers:

e Quadrant IIT
e Quadrant IV
e Quadrant I
e Quadrant II
e the x-axis
o the y-axis

19. Correct Answers:

o III
o]
o II

21. Correct Answer:

Answers may vary

28



Section 4.2

1. Correct Answer:
CD

3. Correct Answer:

ABC

5. Correct Answer:
BC

7. Correct Answer:

AB

9. Correct Answers:
5

—

o | |
w = »
~— =~ wn
= =2

—_
\9)
~—

e 6 6 6 o ¢ o o o o
[\ I LS I NN AN

A~ =~
[\S}
—
~—

11. Correct Answers:

=5
(_27_5)
-1
(71771)

13. Correct Answers:

12
(=2,12)

I
_
\=

=

O/;\ we AN/ O
W o
= =

—
N

=]
=

29

15. Correct Answers:

—24
(—20,—24)
—15
(—10,-15)
—6

(07 _6)

3

(10,3)

12

(20,12)

17. Correct Answers:

19. Correct Answer: —1;6;0;0; 1; —6; 2;

=7

(_47 _7)
-8

(_27 _8)
-9

(O’ _9)
—-10
(2,—10)
—11
(4,—11)

—12; 3;

21. Correct Answer: —1;2;0;5;1;8;2;11;3; 14

—18

23. Correct Answer: —7;4;0;7;7;10; 14; 13; 21; 16

25. Correct Answer: —3; —9; 0; —10; 3;

31.Correct Answers:Table omitted.

6,,

y

—11;6;

33.Correct Answers:Table omitted.

—12;9;

—13



L x L
—6 —4 2 4 6 —6 —4 -2 2
L 5 —2
4 4
-6 —6
35.Correct Answers:Table omitted. 41.Correct Answers:Table omitted.
y Yy
6 61
4 4t
2 21
| x
-6 -4 -2 2 4 6 =6 -4 =2 2
2 21
4 4]
_61 61

37.Correct Answers:Table omitted.
y
6 1

39.Correct Answers:Table omitted.
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Section 4.3

1. Correct Answer: y = 2x
3. Correct Answer: y=x+17
5. Correct Answer: y = x+2

7. Correct Answer: y = \/x

9. Correct Answer: y = X2

11. Correct Answer: y = %

13. Correct Answers:

e 19525
o 15774
e 1997,2003

31



Section 4.4

1. Correct Answer:

3. Correct Answer:

5. Correct Answer:

7. Correct Answer:

Bl

N[V

9. Correct Answer: 0

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

DNE or NONE

W v W=

DNE or NONE

32



Section 4.5

1. Correct Answers:

L)
e (0,2)

3. Correct Answers:
o 4
b (0’76)

5. Correct Answers:

o 1

e (0,8)

7. Correct Answers:
o —1
hd (O’__S)

9. Correct Answers:

4
® 5

e (0,4)

11. Correct Answers:

1
®5
[ ]

(0,3)

13. Correct Answers:

9
e (0,9)

15. Correct Answers:

o —1
e (0,1)

17.Correct Answers:

19.Correct Answers:

21.Correct Answers:

23.Correct Answers:

25.Correct Answers:

33




6 1y
4 4
—6 -4
27.Correct Answers:
6 1y
2 NA
46 | 4 | D
_2 1
_4 1
¥6 1
29.Correct Answers:
6 1y
4 4
2 4
—6
31.Correct Answers:

34

5.
J6 [ 14 [
1 2 L
_4 £
—61
33.Correct Answers:

35.Correct Answers:

37. Correct Answer: y =2x+ 1
39. Correct Answer: y = —3x+3

41. Correct Answer: y = %x—i— 2

43. Correct Answer: y = —zx



45.
47.
49.
51.
53.
55.
57.
59.
61.

63.

65.

67.

Correct Answer: y =2x+8
Correct Answer: y = —4x—9
Correct Answer: y = —x—+1
Correct Answer: y = %x +9
Correct Answer: y = %lx +7
Correct Answer: 14

Correct Answer: 370

Correct Answer: 34

Correct Answers:

e y=0.065x+12
e $19.80
e 440

Correct Answers:

e y=0.12x+15.2
e 18.32
e 53

Correct Answers:

o y=0.04x+18
e $22.80
e 440

Correct Answers:
e y=021x+12
e 17.25
e 53

35



Section 4.6

1. Correct Answers:
° 2
e (3,5)

3. Correct Answers:

3
o (—1,-4)

5. Correct Answers:

o« 3

2
o (—2,4)

7. Correct Answers:
e y=5(x—1)+9
° y:5(x—5)+29

9. Correct Answers:
o y=-5(x—-5)+—-18
e y=—-5x—=-2)+17

11. Correct Answers:
° y= %(x— 18)+10
o y=2(x—-27)+12

13. Correct Answers:
e y=3(x—4)+14
e y=3x+2

15. Correct Answers:
o y=-3(x—1)+—4
o y=—-3x+-1
17. Correct Answers:
o y=1(x—4)+38
o y=1x+4

19. Correct Answers:
o y=—1(x——4)
e y=—Ix+—4

21. Correct Answers:
e y=3(x—15)+14
° y= %x +5

23. Correct Answers:
o y=—3(x—-7)+8
° y= —%x—&— 3

25. Correct Answer: y=5x—15

27. Correct Answer: y = —2x—2

29.
31.
33.

35.

37.

39.

Correct Answer: y = %x -3

Correct Answer: y = (—0.444444)x — 4

Correct Answers:

o y=0.045x+13
e $20.65
e 480

Correct Answers:

e y=0.28x+15.6
e 23.44
e 57

Correct Answers:

e y=0.03x+18
e $22.80
e 470

Correct Answers:

e y=0.16x+12.4
e 16.88
e 57



Section 4.7

1. Correct Answers:

e 8
e (0,6)

3. Correct Answers:

o —1
* (0,5)

5. Correct Answers:

o _1

e (0,—1)

7. Correct Answers:

[y 9]
=

71)

9. Correct Answers:

Wl

0,0)

11. Correct Answers:
6
5

. (0.4)

13.Correct Answers:

15.Correct Answers:

37

61
41
‘N'
-6 AR
Lol
41
_61
17.Correct Answers:
61
41
9|
e [ Ja | b
19.Correct Answers:
61
4t

21.Correct Answers:



NE
40
20
‘ X
6 -4 -2 2 4 6
Lol
41
—6
23. Correct Answer: 2x—y = =2
25. Correct Answer: 4x —9y = =72
27. Correct Answers:
L)
e 15
e (0,15)
e 6
e 0
e (6,0)
29. Correct Answers:
o (
e 16
e (0,16)
e —10
e 0
e (—10,0)
31.Correct Answers:
x-intercept: (6,0)
y-intercept: (0,4)
NE
20
‘ X
-6 | 4 | Db 2 4 6
72 1
41
_6 |

33.Correct Answers:
x-intercept: (2,0)
38

y-intercept: (0,—5)

AL
40
20
de | 4 | b 4 6
Lol
41
35.Correct Answers:
x-intercept: (—15,0)
y-intercept: (0, —3)
24 %
18
12+
60
‘\. I I I I I X‘
_24 18 —17 =t—y 12 18 24
—6 ‘\
—12+
—18 1
_24 A4

37. Correct Answer: C
39. Correct Answer: A

41. Correct Answer: A



Section 4.8

1. Correct Answers:

3. Correct Answers:

—6

(767 72)
—6

(_67 - 1)
—6
(_670)
—6

(767 1)
—6
(_672)

5. Correct Answer:

AC

7. Correct Answer:

BD

9. Correct Answer: y = —9
11. Correct Answer: x = —4
13. Correct Answer: y =3
15. Correct Answer: x =2

17. Correct Answers:

e none
® none
® none
e 10

o (

. (10,0)

19. Correct Answers:

o 0
o —7/
i (Oa _7)
e none
e none
e none
21.Correct Answers:
6»)’
40
20
‘ | B3
-6 -4 -2 2
Lol
41
_6
23.Correct Answers:
[}
60)’
40
20
‘ X
-6 -4 -2
Lol
4
—61
|/

25. Correct Answer: y = —9
27. Correct Answer: x = —3

29. Correct Answers:
o y=4x+2
e y+18= 4(x—|—5)

31. Correct Answers:
e y=— %x +4
o y—T7= —é(x—|—27)

39



33.

35.

37.

39.

41.

43.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answers:

e y=x-2

e y+1l=x—-1
Correct Answers:

° y= f%x+ 1

o y+23=-8(x-15)

40



Section 4.10

1.Correct Answers:

3.Correct Answers:

5.Correct Answers:

7.Correct Answers:

41

[\

[\

i

@)}




Section 4.11

3. Correct Answer:
5. Correct Answer:
7. Correct Answer: —3
9. Correct Answer: DNE or NONE

11. Correct Answers:

o 3
6
hd (07 _2)

13. Correct Answers:
e y=-3.6x+176.4
e 54
e 49

15. Correct Answer: 2x —y = —2

17. Correct Answers:
-8

(_87 _2)
-8

(_87 _1)
-8
(_870)
-8

(_87 1)
-8
(_872)

19. Correct Answer:
A

42



Section 5.1

1. Correct Answer: i
3. Correct Answer: i

5. Correct Answer: 1

7. Correct Answer:

-1
9. Correct Answer: {(—1,-5)
11.
13.
15.
17.
19.
21.
23.
25.
27.
29.

Correct Answer:
Correct Answer:

Correct Answer:

Correct Answer: 1
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

{(2,-2

{(1,

{(2,-3)}
no solution

no solution

{(@y) [y=—3x+7}

one solution

infinitely many solutions

infinitely many solutions

no solution

43



Section 5.2

1. Correct Answer
3. Correct Answer.
5. Correct Answer

7. Correct Answer

DX

: x =3andy = —1
= —Sandy =4
s r=2andb =10

A =2andt = 20

9. Correct Answer: n = Sandq = 14

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.

53.
55.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

infinitely many solutions
x=—landy =1

no solutions
x=—landb =73
xX= %andy = %

x= —Z—(I)andy = %
q= f%andp = f%
t= f%andm %
x= %andm = —%
xX= —%andy = %

X = %andy = —%
no solutions

(5:%)

(2.3)

no solution

infinite number of solutions

Correct Answers:

e 31
e 15

Correct Answer:

240

Correct Answers:

o 12
e 6

57.

59.

61.

63.

65.

67.

69.
71.

73.

Correct Answers:

e $9,000
e $5,000

Correct Answers:

e 120
e 480

Correct Answers:

e $3,500
e $2,500

Correct Answers:

o $4,000
e $2,000

Correct Answers:

e $9,000
e $5,000

Correct Answer: 300

Correct Answer: 225

Correct Answers:

e 9
e 8

Correct Answer: 7200



Section 5.3

1. Correct Answer:

(
3. Correct Answer: (—8,7)
5. Correct Answer: (
7. Correct Answer: (
9. Correct Answer: no solution
11. Correct Answer: infinite number of solutions
13. Correct Answer: a = —3andq =2
15. Correct Answer: x = —%andy =— %
17. Correct Answer: x = —1landy = —11
19. Correct Answer: x = —landy =0
21. Correct Answer: A = 5anda = —%
23. Correct Answer: p = seandr = — 43
25. Correct Answer: x = sandy = 3
27. Correct Answer: infinitely many solutions
29. Correct Answer: ( ,

31. Correct Answer: (

33. Correct Answers:

e 13
e 8

35. Correct Answers:

o $8,000
e $5,000

37. Correct Answers:

e 340
e 340

39. Correct Answers:

e 52
o 132

41. Correct Answer: 13

43. Correct Answers:

e 1389
e 1511



Section 6.1

1.
3.
5.
7.
9.
11

13.
15.
17.
19.
21.
23.
25.

27.
29.
31.
33.
35.
37.

39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.
59.

Correct Answer: y
Correct Answer: y

Correct Answer: 8y

15

Correct Answer: 50x26

Correct Answer:
. Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

},3 6

T 40

Correct Answer: 2

—343
64x18

125x%4
64

—2t14

Wl

167

x12
8y18,30

81x*
100y!2

1214.133

232922
4xy
1000

5 e o

i

20x!!

e

15x°

46

61. Correct Answer: 131)21 °
63. Correct Answer: )[‘—;
65. Correct Answer: }1+t5
67. Correct Answer: %
69. Correct Answer: }%
71. Correct Answer: r%
73. Correct Answer: %
75. Correct Answer: x%
77. Correct Answer: y%
79. Correct Answer: r%
81. Correct Answer: %6
83. Correct Answer: %
85. Correct Answer: —%
87. Correct Answer: —125
89. Correct Answer: —27
91. Correct Answer: 8—11
93. Correct Answer: %
95. Correct Answer: 16
97. Correct Answer: —31—6
99. Correct Answer: ;17
101. Correct Answer: 4t3°
103. Correct Answer: X%
105. Correct Answer: ﬁ
107. Correct Answer: —%
109. Correct Answer: g
111. Correct Answer: 907—x|
113. Correct Answer: y'*
115. Correct Answer: 16r!
117. Correct Answer: -




119.
121.

123.
125.

127.
129.

131.
133.

135.
137.
139.
141.
143.
145.
147.
149.
151.
153.
155.
157.
159.
161.
163.
165.
167.

Correct Answer: —

Correct Answer:

Correct Answer: 7

Correct Answer:

Correct Answer: 5

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

7.5 x 107
9.5x 103
2.6 x 1072
45x1074
6500
85100

Correct Answer: 1.49

Correct Answer: 0.00035

Correct Answer: 0.00548

Correct Answer: 5.6 x 10°

Correct Answer: 3 x 10!

Correct Answer: 6 x 102

Correct Answer: 8 x 10°

Correct Answer.
Correct Answer,
Correct Answer.

Correct Answer.

2 2% 100

2 5% 10710
2 7% 107

- 8.1 x10°

47



Section 6.2

1. Correct Answers:

e binomial
o2

3. Correct Answers:

e monomial
o (

5. Correct Answers:

e trinomial
e 6

7. Correct Answers:

5
e trinomial

9. Correct Answers:

e monomial
e 3

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

10

—x—3

—8x

—3x2 —3x+19

48 + 92 + 12

—13x% + 10x* + 182

¥ 4+0.9y* —0.5y° + 0.8y + 1.6
1223 — 14x% + 6x+ 7

x—13

10x% 4 5x

6x0 +9x* —2x 44

—5x3 4522 + 16x + 10
—17x* 4+ Tx+ 14

516 —¢2

9x° — 113 4 172
19y + 15y
9y]5 +4y13 +4y6
15)c6y7 — bxy
=3x8y — 12xy+ 1

48

49.
51.
53.
55.
57.
59.
61.
63.
65.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

10x8y° + 12xy* — 14xy
—x* —12xy +4y?

—13x%y8 + 16x%y° + 2xy

348 4+ 87y + 7a8y?
4x*y3 —13xy

1.6x% +x

67x* —13.5

3x% 4 7x% +50x + 80
61t —3x° +5x2 + 15



Section 6.3

1. Correct Answer:

3. Correct Answer:

5. Correct Answer:

7. Correct Answer:

9. Correct Answer:

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.
59.
61.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

6x2 4 30x

14x% + 8x

—5x +40x?

18y* —27y3

60r* + 5413 — 60r2
30x36y16 +20x20y24
_27a24b18 _ 6a24b23
35a'2 —10a''b® 4 354°H°
4w? — 6w

b>+4b

h? +4h
Z+17x+70

10y 459y + 45
Pr—r—12

> — 11t +30

30x% + 74x+ 36
12y — 60y + 27

5r2 —16r+3

82+ 62t — 16

8x3 — 16x% —6x+ 12
500 +40x° +x% +8
15y* —71y*+70
3x% 4+ 15x+ 18

x> —4x

—4x2 —17x—4

a® —3ab —28b°

6a* — 10ab — 24b*
48a* + 24ab — 24b°
90a’b* +87ab+ 18
x* —13x+30

—35x2 4-502x 4 1680

49

63. Correct Answer:
65. Correct Answer:
67. Correct Answer:
69. Correct Answer:

71. Correct Answer:

4x3 +16x% +32x+20
—15x* =193 4+9x2 —x—6
x4+ 6x3 +16x% +22x+ 15
@ +a*b —Tab* 4 20b°

a® +2ab+b* —36



Section 6.4

1. Correct Answers:

e False
e False
o True

3. Correct Answer: y* + 10y +25

5. Correct Answer: 81r* + 144r + 64
7. Correct Answer: t> — 18t +81

9. Correct Answer: 25t> — 60t 4 36

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

64x* — 128x% + 64
y® —26y* +169
494> 4 56ab + 16b>
81a%b? + 126ab + 49
x4 4xy? 44yt
y2—49

16r2 —25

81 — 42

1?0 81
16x'* —49

1—121y°

49x% — 4y?

a’b* — 81

- 4y4

16x'* — 100y

36x6y16 _ 16y14

Choice 3

Choice 2

Choice 1

Choice 2

h3 +9h> + 18h

£ +612 412t +8

X3 —12x% +48x — 64

125y* +300y? + 240y + 64

50

59, Correct Answer: 8r° — 60r? + 150r — 125



Section 6.5

1. Correct Answer: 1311 —2¢6

3. Correct Answer: —6x'2 — 5x7 +10x°

5. Correct Answer: 2y° — 5y*

7. Correct Answer: 1177 +12r% —7r° — 10/*
9. Correct Answer: 6xy —8+9y

11. Correct Answer: 12x'2y10 + 5x7y5 — 4x!1y7
13. Correct Answer: 8x'? —3x* — x?

15. Correct Answer: 3x° 4 5x3 — 4x

17. Correct Answer: 5x3 —3x* — 4x

51



Section 7.1

1. Correct Answer: 2 or —2
3. Correct Answer: 4y or — (4y)
5. Correct Answer: Tr3 or —7r°

7. Correct Answer.

- 1072 or — 107

9. Correct Answer: 413 or — 418

11. Correct Answer: 3x°y* or —3xy?
13. Correct Answer: 9(y+1)

15. Correct Answer: 3(r—1)

17. Correct Answer: —6(t +1)

19. Correct Answer: 8(x+5)

21. Correct Answer: 2(1 0y* — 3)

23. Correct Answer: 10(5}’2 —10r+6)
25. Correct Answer: 3r? (Sr2 +4r+ 7)
27. Correct Answer: 8t3 (81> — 2t +17)
29. Correct Answer: 9x(3 + 3x+10x?)
31. Correct Answer: prime

33. Correct Answer: Ty(x+1)

35. Correct Answer: 9y° (x7 — 3)

37. Correct Answer: 8x3y* (2x2 +7x+49)

39. Correct Answer: 5x°y82% (4x°2% + Txz + 4)



Section 7.2

1. Correct Answer: (t +2)(t +10)

3. Correct Answer: (x—T)(y—2)

5. Correct Answer: (4x+9)(x+y)

7. Correct Answer: (10y* + 1)(4y—9)

9. Correct Answer: Tr*(r+16) (7r* 4+ 5r+5)

(t+3)(+7)
13. Correct Answer: (x+7)(x+10)

11. Correct Answer:
15. Correct Answer: (y* —2)(

17. Correct Answer: (r* —8)(r—6)
19. Correct Answer: (x+4)(y+9)
21. Correct Answer: (x+5)(y —2)
23. Correct Answer: (4x+9y)(x—y)
25. Correct Answer:
29. Correct Answer:

(
27. Correct Answer: (x> +7)(
( 10) (1-5y)

W

31. Correct Answer: 4x* (x+ )(4x - 3x+2)



Section 7.3

1. Correct Answer:
3. Correct Answer:
S. Correct Answer:
7. Correct Answer:
9. Correct Answer:
11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
3s.
37.
39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.
59.
61.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

—1)(t+7)

(x+5y)(x+4y)

54

63.
65.
67.
69.
71.
73.
75.
77.
79.
81.
83.
85S.
87.
89.
91.
93.
9s.
97.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer: x2
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

10xy(x+1)(x+2)
(y—52)(y +32)
a+b)(r+8)(r+2)
t+0.2)(t+0.9)

7)(yr+1)
—6)(rt —4)
20ty +3)(ty+1)
6(xr+1)(xr—4)

2y(xy —2)(xy —6)

(

(
(xy+8)(xy+1)
(yr—

(rt



Section 7.4

1. Correct Answer:
3. Correct Answer:
5. Correct Answer:
7. Correct Answer:
9. Correct Answer:

11.

Correct Answer:

13.
15.

Correct Answer:

Correct Answer:

17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
5S.
57.
59.
61.

Correct Answer:

Correct Answer:

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

By+8)(y+1)
(3r410)(r—2)
(3t — 10)(t — 2)
prime
(6y+5)(y+3)
6r+7)(r—
)t —
2)(2t+1

8t —7

~—

(
(
(5t +
(3x+2)(4x—5)
(Sy—-1)(@3y—
6(2r+1)(r+1)
9(5r=2)(t+1)
2(2x—3)(x—2)
(Sy+3)(y+1)

2r*(3r—1)(r+5)

3y2

2t7(3t —2)(t —4)
2tx+3)(tx+6)
3xy+4)(xy—3)
1) (yr—4)
3r+5t)(r+3t)

2yr —

5t+4r) (5t +2r)
5x+3y)(2x—3y)
5y —x)(5y —4x)

3(5rx+1)(rx+1)
8(3tx—2)(tx+1)

(
(
(
(
(
(
(
(
(
(
(
(

4x*(3xy —1)(xy —2)

55

63.
65.
67.
69.
71.
73.
75.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

4(3x+y)(x+2y)
3(3a+2b)(a—3b)
2(2x—y)(x—2y)
2y(2x 4 Ty) (x +2y)
4(y—1)(2x+3)(x+1)
2(y+9)(3x+10)(x + 1)

Correct Answers:
o (5x+2)(x+4)
o (5y—38)(y—4)



Section 7.5

1. Correct Answer: (y+1)(y—1) 63. Correct Answer: 6yt*>(yt +5)(yt —5)

3. Correct Answer: (4r+5)(4r—15) 65. Correct Answer: 2(3+r)(3—7)

5. Correct Answer: (tr+3)(tr—3) 67. Correct Answer: 2(2r+1)(2r+1)

7. Correct Answer: (3xy+7)(3xy—17) 69. Correct Answer: 7(2ty+1)(2ty+1)

9. Correct Answer: (3+y)(3—y) 71. Correct Answer: T(3x—1)(3x—1)

11. Correct Answer: (9+7r)(9—Tr) 73. Correct Answer: y5(12y+1)(12y+1)

13. Correct Answer: (r*+11)(r* —11) 75. Correct Answer: r*(5r —1)(5r — 1)

15. Correct Answer: (3t>+5) (31> =5) 77. Correct Answer: 4t8(5t +1)(5¢+1)

17. Correct Answer: (x*+7)(x* —7) 79. Correct Answer: Tx>(3x —1)(3x— 1)

19. Correct Answer: (6x* +y?) (6x* —y?) 81. Correct Answer: y(3y+10)(9y* — 30y + 100)
21. Correct Answer: (x° +8y") (x> —8y") 83. Correct Answer: (6x+5y)(36x> — 30xy +25y?)
23. Correct Answer: (t+5)(t+5) 85. Correct Answer: 3(r—3)(r+3)(r* +9)

25. Correct Answer: (x—9)(x—9) 87. Correct Answer: t*(t+3) (1> — 3t +9)

27. Correct Answer: (12y+1)(12y+1) 89. Correct Answer: prime

29. Correct Answer: (5r—1)(5r—1) 91. Correct Answer: 9y (y2 + 1)

31. Correct Answer: (9rx—1)(9rx—1) 93. Correct Answer: r(0.14r)(0.1 —r)

33. Correct Answer: (t + 6x)(r + 6x) 95. Correct Answer: (t —13)(t+7)

35. Correct Answer: (x—Tr)(x—Tr) 97. Correct Answer: (x —10—9y)(x— 10+ 9y)

37. Correct Answer: (8y+3r)(8y+3r)

39. Correct Answer: (6r — 5t)(6r — 5t)

43. Correct Answer: (x—6)(x +6x+36)

45. Correct Answer: 64y> —8y+1)

47. Correct Answer: (2r —1

) (¥

8y+1)

)

49. Correct Answer: )

(

(4r2+2r+1)
5r+7)(25r% —35r+49)
7t —5)(49¢% + 351 +25)

51. Correct Answer:

)
53. Correct Answer: (xy+3)(x*y* —3xy+9)
)

55. Correct Answer: (x — 6y

(
(+*
2r—3)(2r+3)(4r* +9)

6)

X~ +6xy+ 36y )
57. Correct Answer:

(
(
(
(
(
(
(
(
(
41. Correct Answer: (t+3) (1> — 3t +9)
(
(
(
(
(
(
(
(

59. Correct Answer: 3(t +6)(t — 6)
61. Correct Answer: 8x(x+2)(x—2)

56



Section 7.6

1. Correct Answer: 51. Correct Answer: 263(t +1)(t +3)
8 53. Correct Answer: 2y(x+1)(x+9)
3. Correct Answer: 55. Correct Answer: 4y(xy —2)(xy— 1)
F
57. Correct Answer: (y+0.5)(y+0.8)
5.C tA :
. orrectanswer 59. Correct Answer: (rt +8)(rt —8)
61. Correct Answer: (1> +3) (t* —3)
7. Correct Answer:
B 63. Correct Answer: (x°

x>+ 3y )(x5 3y6)
)

9. Correct Answer- 65. Correct Answer: 10y(y+1)(y—1)
A

67. Correct Answer: 12(1+r)(1 —r)
11. Correct Answer: 69. Correct Answer: (t —10y)(t — 10y)
AH 71. Correct Answer: (8x—1)(8x—1)
13. Correct Answer: 73. Correct Answer: (9x+ 2t)(9x + 2¢)
G 75. Correct Answer: y>(4y+1)(4y+1)
1S. Correct Answer: 2(1 +1) 77. Correct Answer: (r+17)(r* —7r+49)
17. Correct Answer: 5(5x* —2) 79. Correct Answer: (9t +10) (817> — 90z + 100)
19. Correct Answer: 5y(7+ 9y +8y*) 81. Correct Answer: x(3x+8)(9x> —24x+ 64)

A30S (62
21. Correct Answer: 4x°y (6x — 10x—|—5) 83. Correct Answer: 4(y—2)(y+2) (y2-|-4)

23. Correct Answer: (x+17)(y —8)

t=T)(t+2)

(xt

(
25. Correct Answer: (
(2xt +1)
29. Correct Answer: (4y+1)(y—1)
(
(
(

27. Correct Answer: (2xt +

31. Correct Answer: (4r—5)(2r —3)

33. Correct Answer: (2t — 5x)(t — 3x)
(

35. Correct Answer: (4x+r1)(2x+3r)

4(3y+5)(y—2)

39. Correct Answer: 5y°(2y +1)(y+2)

37. Correct Answer:

41. Correct Answer: 2(2x+3y)(x+3y)
200-3)(2x+7)(x+1)
45. Correct Answer: (x—T)(x—8)

43. Correct Answer:

. Correct Answer:

. Correct Answer:

(vt —6)(yt +1)

2(ry+8)(ry+1)

57



Section 8.1

1. Correct Answer: x = —4orx =2
3. Correct Answer: x = —8orx = 17—5
5. Correct Answer: x = —2o0rx = —1
7. Correct Answer: x = 3orx = —4

9. Correct Answer: x = 50rx =4

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.
47.
49.
51.
53.
55.
57.

Correct Answer: x = —8orx = —10
Correct Answer: x = 100orx = =3
Correct Answer: x = 8orx =5
Correct Answer: x =Qorx =1
Correct Answer: x = 0orx =17
Correct Answer: x = Qorx = %
Correct Answer: x =2

Correct Answer: x =5

Correct Answer: x = —%

Correct Answer: x = —%orx =—-6
Correct Answer: x = —100rx = 10
Correct Answer: x = —%orx = %
Correct Answer: x = —%orx = %
Correct Answer: x = —4orx =11
Correct Answer: x = %orx =-10
Correct Answer: x = —2o0rx =4
Correct Answer: x = —lorx =2
Correct Answer: x = —1

Correct Answer: x = —%

Correct Answer: x = —100rx = —8orx = —9
Correct Answer: x = —3orx =3orx =0
Correct Answer: x = 0orx = lorx =4
Correct Answer: 6,—77

Correct Answers:

e 9cm
e 18 cm

59. Correct Answers:
e 2in
e 3in

61. Correct Answer: 3 ft



Section 8.2

1. Correct Answer:
CEF

3. Correct Answers:

e o o
O N B

5. Correct Answers:

o !

9
e DNE

7. Correct Answers:

e 10
o 1
e 100

9. Correct Answers:

o 12
e 120
e 1200

11. Correct Answers:

e 3
e 0.3
e 0.03

13. Correct Answer:
15. Correct Answer:
17. Correct Answer:
19. Correct Answer:
21. Correct Answer:
23. Correct Answer:
25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:
33. Correct Answer:

35. Correct Answers:

o 1
e 5

37. Correct Answer:

6.24

8
11

—11
not a real number
not a real number or 0.8

—6
7

5
1

6
3V3
14v/5
V154

12v/77

59

39.
41.
43.
45.
47.
49.
51.
53.
55.
57.
59.
61.
63.
65.
67.

69.
71.
73.
75.
77.
79.
81.
83.
85S.
87.
89.
91.
93.
9s.

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer: —

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

1803

8v2 4113
3V3
4y/5—-53

w = _‘ I
b “Ig, og
(S}

[SS]
(=]

0
\]ﬁ

W L‘& N
g S

o‘% I
=

=

—2)
o
W

[y}
5
[o)}

11

V38+1/34

1211 +43
56 — 2617

8+2v7
11-6v2
20— 10v/3



97. Correct Answer: 127 —48+/7
99. Correct Answer: —4
101. Correct Answer: —1

103. Correct Answer: —70

60



Section 8.3

1. Correct Answer: x = 11lorx = (—11)

3. Correct Answer: x = —%orx = %
5. Correct Answer: x =2+/1lorx = —2+/11

7. Correct Answer: x = \/290rx = — (v/29)

9. Correct Answer: x = 3orx = —3

11. Correct Answer: x = —%orx = %

13. Correct Answer: x = —%orx = 12—1

15. Correct Answer: x = @orx = 7(\/5130T)
17. Correct Answer: r = 7(iﬁ) orr = @

19. Correct Answer: no real solutions

21. Correct Answer: x = 150rx =5

23. Correct Answer: x = fgorx = %

25. Correct Answer: y = —6ory = —12

27. Correct Answer: x = 6++/430rx = 6 — /43
29. Correct Answer: t = —2 +5v/Tort = =2 — 57
31. Correct Answer: x = —10+47+/30rx = —10—7/3
33. Correct Answer: 13

35. Correct Answer: 16

37. Correct Answer: 8.30662

39. Correct Answer: 2v/74

41. Correct Answer: 24/13

43. Correct Answers:

e 324
e 135

45. Correct Answers:

e 25
e 15



Section 8.4

1. Correct Answer:

x=—-5-230rx=—-5+2V3

3. Correct Answer: x = —%orx = —%
5. Correct Answer: x = 37§/§0rx = %
7. Correct Answer: x = 71723\60}% = 7123\6
9. Correct Answer: x = _I%morx = _1*'6\@
11. Correct Answer: x = Sf‘ﬁorx = 5+%ﬁ
13. Correct Answer: no real solutions
15. Correct Answer: x = 20rx = —2
17. Correct Answer: {9}
19. Correct Answer: x = 715—20rx = 15—2
—(V15
21. Correct Answer: y = (5 )ory = @
23. Correct Answer: x = Qorx =15
25. Correct Answer: {0}
27. Correct Answer: x = —9orx =5
29. Correct Answer: x = 120rx =4
31. Correct Answer: x = 1_E/ﬁorx = 1+§m
33. Correct Answer: x = 71;m0rx = 712ﬁ
35. Correct Answer: t = 100rt =4
37. Correct Answer: {—4}
39. Correct Answer: —8,7
41. Correct Answer: —0.9,—4.8
43. Correct Answers:
e 8cm
e 14 cm
45. Correct Answers:
e 5in
e 11in
47. Correct Answers:
e 150
e 200
e 100
e 300
49. Correct Answer: 2 ft

62

51. Correct Answer: 2.55104

53. Correct Answers:

e 0.201999
e 20.2062

55. Correct Answers:

e $160.00
e $510.00



Section 8.5

1. Correct Answer:
3. Correct Answer:
5. Correct Answer:
7. Correct Answer:
9. Correct Answer:
11. Correct Answer
13. Correct Answer
15. Correct Answer

17. Correct Answer.

19. Correct Answer:

iv42

3iV3

12iv/3

t = Siort = (—5)i
x=8iorx=(—8)i

sy =iv2ory = (—i) V2

- r=2i\/Torr = (-2) iv7

st = (=T)+Tiort = (=7)—Ti
cx=24iorx=2—1

x=(=3)+iv3orx=(-3)—iv/3

63



Section 8.6

1. Correct Answer: x = 6orx = (—6)
3. Correct Answer: x = 50rx = —5

5. Correct Answer: no real solutions

7. Correct Answer: x = 20rx = —4

9. Correct Answer: x = 30rx = —%

11. Correct Answer: x = 50rx = 10

13. Correct Answer: x =3orx =17

15. Correct Answer: x = —1

17. Correct Answer: x = — %orx =—-10

19. Correct Answer: x = —50rx =1

21. Correct Answer: x = —5—2v/30rx = —=5+2/3
23. Correct Answer: x = 7772\@0”6 = *7+2‘/E
25. Correct Answer: no real solutions

27. Correct Answer: x = 4orx = =5

29. Correct Answer: x = Sorx = —5

31. Correct Answer: no real solutions

33. Correct Answer: no real solutions

35. Correct Answer: x = —%orx =-5

37. Correct Answer: x = —5—+/Sorx = —=5+/5
39. Correct Answer: r = 8orr =6

41. Correct Answer: x = —9orx = —6

64



Section 9.1

1. Correct Answers:

e does not describe
o {—4,4,6,7}
e {6,8,9,10}

3. Correct Answers:

describes

{_47 _2}

{6}

describes
{-9,8,10}
{2,10}

does not describe
{-10,-5,2}
{1,3,5}

does not describe
{-8,-7,-5,2}
{4,5,8,9,10}

5. Correct Answers:

e does
e does not

7. Correct Answers:
e does not

e does

11. Correct Answers:

e 3
e —3
o —1

13. Correct Answers:

® 8
o 4
e 0

15. Correct Answers:

e o o
WD \O —

17. Correct Answers:

e o o
~N O W

19.

21.

23.

25.

27.

29.

31.

33.

35.

37.

39.

41.

65

Correct Answers:
o —7
o —7
e —8

Correct Answers:

e o o
O o O

Correct Answers:

e o o
[o)Ne)Je)

Correct Answers:
49
2
21
8

Correct Answers:
o —7/
e undefined

Correct Answers:

5
o5

Correct Answers:
o —45
o -3

Correct Answers:

° 2
10

* 3

e not a real number

Correct Answers:
o —4
4

¢ 3

Correct Answers:

ENESRON]

Correct Answers:
e 3 -3
e no real solutions

Correct Answer: 4,5



43.

45.

47.

49.

51.

53.

55.
57.
59.

61.
63.
65.
67.
69.

71.

Correct Answers:
o {_77 Oa 8}
hd {_27 1 }

Correct Answers:
d (_°°7 °°)

° [—1,00)

Correct Answers:
o 1

e x=(—1),x=3

Correct Answers:

o (
e x=2

Correct Answers:
o —2
e x=0,x=4

Correct Answers:
e (2,0)
e 6

Correct Answer: (y,x)

Correct Answer:
Correct Answers:
* %
o 4.73485
e 25000

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answers:

10
B
1,8
B

Correct Answers:

e o o o
W
\1

t

g w o »

66



Section 9.2

1. Correct Answers:

x=4
4,11)

3. Correct Answers:

x=-3
(_37 16)

5. Correct Answers:

x=-=5
(~5,20)

7. Correct Answers:

9. Correct Answers:

x=0
0,2)

11. Correct Answers:

13. Correct Answers:

e x=1.5
e (1.5,—12.25)

15. Correct Answers:

x=0
(_070)

17. Correct Answers:

e x=0
o (—0,—4)

19. Correct Answers:

e x=-5
o (—5,4)

21.Correct Answers:Table omitted.

205

e omitted.
|y

25.Correct Answers: Tabl

IR

e omitted.

27.Correct Answers:Tabl

67

e omitted.



29.

31.

33.

3s.

37.

39.

Correct Answers:

o —4545
o —20.25

Correct Answers:

e 0.9,—4.5
e —4.05

Correct Answers:

e 205 ft
e 102.5 ft
e 21012.5 ft?

Correct Answers:
e 58 ft
e 435 ft
o 2523 ft?

Correct Answers:

e 37.6ft
e 23.5ft
e 883.6 ft?

Correct Answers:

e $22.500.00
e $150.00
e $130.00
e $170.00

68



Section 9.3

1. Correct Answers:

e (0,10)
e (—5,0),(—2,0)

3. Correct Answers:

e (0,—4)
e (—2,0),(2,0)

5. Correct Answers:

* (0,0
* (0,0),(5,0)

7. Correct Answers:

e (0,4)
e (2,0)

9. Correct Answers:

e (0,10)
e DNE

11. Correct Answers:

e (0,—7)
e (0.8,0),(—8.8,0)

13. Correct Answers:

e (0,25)
o (1.25,0)

15. Correct Answers:

e (0,10)
e (—1.25,0),(2,0)

17.Correct Answers:
The parabola opens upward.
The x-intercepts are (3,0) and (4,0).
The y-intercept is (0, 12).
The vertex is (3.5,—0.25) and the axis of symmetry is
x=3.5.
Symmetry can be used to determine the point (7,12).
69

19.Correct Answers:

The parabola opens downward.

The x-intercepts are (—5,0) and (4,0).

The y-intercept is (0,20).

The vertex is (—0.5,20.25) and the axis of symmetry is
x=-0.5.

Symmetry can be used to determine the point (—1,20).

Y

—6] -4 -2, 2 6
41

21.Correct Answers:

The parabola opens upward.

The x-intercept is (4,0).

The y-intercept is (0, 16).

The vertex is (4,0) and the axis of symmetry is x = 4.
Symmetry can be used to determine the point (8,16).



23.Correct Answers:

The parabola opens upward.

The x-intercepts are (—2,0) and (2,0).

The y-intercept is (0, —4).

The vertex is (0, —4) and the axis of symmetry is x = 0.

6 1y
4 4
2 4
‘ ‘ X
—6 —4 4 6
61
25.Correct Answers:

The parabola opens upward.

The x-intercepts are (—6,0) and (0,0).

The y-intercept is (0,0).

The vertex is (—3,—9) and the axis of symmetry is x =
—3.

70

27.Correct Answers:

The parabola opens downward.
The x-intercepts are (5,0) and (0,0).

The y-intercept is (0,0).

The vertex is (2.5,6.25) and the axis of symmetry is

|y

x=2.5.
6 _|
4 1
2 1
dg | Jda | Do
4 4
6 4
29.Correct Answers:

The parabola opens upward.

There are no x-intercepts.
The y-intercept is (0,7).

The vertex is (—2,3) and
Symmetry can be used to

the axis of symmetry is x = —2.
determine the point (—4,7).



/ y
o/ 6
4 AL
2 1L
EEEE X X
=6+—41—2 2 4 6
SLu
41
—6
31.Correct Answers: 35.Correct Answers:
The parabola opens upward. The parabola opens upward.
The x-intercepts are (—1+1/6,0) and (—1 —+/6,0), or The x-intercepts are (—3,0) and (5,0).
approximately (—3.449,0) and (1.449,0). The y-intercept is (0, —30).
The y-intercept is (0, —5). The vertex is (1,—32) and the axis of symmetry is x = 1.
The vertex is (—1,—6) and the axis of symmetry is x = Symmetry can be used to determine the point (2, —30).
—1.
Symmetry can be used to determine the point (—2,—5).
y ] X
-6
6 1L
4 AL
2 AL
‘ ‘ X
-6 2 4 6
37. Correct Answers:
e 195
33.Correct Answers: o 5776 ft
The parabola opens downward. e 385
The x-intercepts are (2 —+/3,0) and (2 +1/3,0), or ap- e 3840 ft
proximately (0.268,0) and (3.732,0). e0s
The y-intercept is (0, —1). e 205
The vertex is (2,3) and the axis of symmetry is x = 2.
Symmetry can be used to determine the point (4,—1). 39. Correct Answers:
e I1s
e 6929 m
e 22.8915s
e 614.5m
e 5s
e 17s

41. Correct Answer: Yes
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43. Correct Answer: Yes

45. Correct Answers:

e 0.875038
e 9.32904

47. Correct Answers:

e $80.00
e $480.00
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Section 10.1

1. Correct Answers:

e o o
~ = O

3. Correct Answers:
e 6
e -3
e 0

5. Correct Answers:
e —9
e 19
e 3

7. Correct Answers:

e o o
(o BANoREN|

9. Correct Answers:

o 12
e 33
e 8

11. Correct Answers:

o —11
e —20
e 5

13. Correct Answers:

e o o
—

15. Correct Answers:

e 5

o _10

7

17. Correct Answers:

o —4
e undefined

19. Correct Answers:

e —28
e 24

21. Correct Answers:

e 55
o 1

23.

25.

27.

29.

31.

33.

35.
37.

39.

41.

43.

45.
47.

49.
AEF

73

Correct Answers:
e —66
o —17

Correct Answers:

L)
o &

e undefined

Correct Answers:
o —1
2

3

Correct Answers:
e —15
e —15

Correct Answers:

wjoo O

Correct Answers:
e 5 -5
e no real solutions

Correct Answer: 9,—5

Correct Answers:

or=—1

Correct Answers:
o —11
«i=1VIi=_Ly]

Correct Answers:
o —2
e x=2x=-1

Correct Answers:
b (33 _2)
o 11

Correct Answer: (1,1)
Correct Answer: r

Correct Answer:



51. Correct Answers: 73. Correct Answers:

o 1
e —3

I,

53. Correct Answers:

e 3
e 0

e 6 o o o o o
ol |

9}
—_

55. Correct Answers:

-3
: _g 75. Correct Answers:

57. Correct Answers:

o —1

e x=3,x=(-1)

59. Correct Answers:

o 1
e x=2

e e 6 o 0o o o
O ==L = L

O —

61. Correct Answers: 77. Correct Answer: B

o —1

o x=(=3),x=(-1) 79. Correct Answer: C

63. Correct Answers: 81. Correct Answer: A

e 53

o —12 83. Correct Answer: B
65. Correct Answers: 85. Correct Answer: 24x
e 70
e B 87. Correct Answers:
[ ] 4,8 ) SZXW
e B e 2.65152
e 14000

67. Correct Answer: —2; —20; —1; —5;0; 0;
1; —5;2; =20
89. Correct Answer: f(r) =4.95+0.1¢

609. Correct Answers:

e 0 91. Correct Answers:
o | ° 2

o 4 e B

9 e 1.8

e 16 e C

[ ) _x2

71. Correct Answers: 93. Correct Answer: f(x) = 10x

e - ;O 95. Correct Answers:
o —

. 4 . 52.7)

o —1 e 367.5 mi
o2 o v(1) =40

e 3x—10 e 384 mi
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99. Correct Answers:
(b,a)
(d,e)

a
x=d
x=h
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Section 10.2

1. Correct Answers:
e [0,19]
o [0,7600]

3. Correct Answers:

e [0,300]
e [0,12]

5. Correct Answers:
e [0,180]
o [3.4,75.4]

7. Correct Answers:

o [15,55]
o [260,1460]

9. Correct Answers:
o [0,22]
o [0,1936]

11. Correct Answers:
o [0,22.4]
o [0,853.776]

13. Correct Answers:
e [0,230]
e [0,26450]

15. Correct Answers:

e {2,3)5}
e {-2,5}

17. Correct Answers:
d (_27 2]
d [_97 3)

19. Correct Answers:
hd (_372)
o {2}

21. Correct Answers:
b [_5a4)
o [—38,-2]

23. Correct Answers:
o (—oo,1)U(l

;)
o (—o0,—3)U(-3

o))
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25.

27.

29.

31.

33.

35.

37.

39.

41.

43.
45.
47.
49.
51.
53.
55.

Correct Answers:
b (_00’3) U (3a°°)

i (—oo,—])

Correct Answers:
° (—oo , oo)

o [—1,)

Correct Answers:

1
~1,3,5
[_3’7]
[_272]

Correct Answers:
o —1
° (—3,1]
o (—3,—1]U(1,3]

Correct Answers:
b [_1’3)
hd [_5’ 5]

Correct Answers:
e [2,8]
b [_4’0]

Correct Answers:

i (_ooaoo)

i [_17°°)

Correct Answers:
e [0,0)
b [0700)

Correct Answers:
1 (_0033]
o [1,0)

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer: (—
Correct Answer:

Correct Answer:

8

)

3
4

)u(

3w

4

)

(
(
(

Correct Answer: (—oo,—10) U (—10,00)
(
(—00,4)U(4,6) U (6,%)
(

—o0, —5)U(—=5,0)U(0,e0)



57.
59.
61.
63.
65.
67.
69.
71.
73.
75.

Correct Answer: (—oo,—9) U (—9,9) U (9,)
Correct Answer: (,w’,%) f%,%) U (%,oo)
Correct Answer: (—oo, o)

Correct Answer: (—5,00)

Correct Answer: (—, 6]

Correct Answer: [%8,00)

Correct Answer: (—oo,—2) U (—2,2) U (2,0)
Correct Answer: (—eo,—14) U (—14,7) U (7,00)

Correct Answer: [—5,7)U (7,0)

Correct Answers:
e range
e domain
e independent, input, explanatory, or argument
e dependent, output, or response
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Section 10.3

1. Correct Answer: —2; 15;
1;3;2;3;3;5,4;9

—1;9;0;5;

3. Correct Answer: —2;387.4; —1;176.6; 0; —27;
1; —223.4;2; —412.6; 3; —594.6; 4; —769.4
5. Correct Answer: —2; —170; —1; —=72;0; 62;

1;196; 2; 294; 3; 320; 4; 238

7. Correct Answer: [—10,10]; [—10000, 10000]
9. Correct Answer: [—1,1]; [—10000, 10000]
11. Correct Answer: [—100,100]; [—1,1]

13. Correct Answer: two times

15. Correct Answer: one time

17. Correct Answer: zero times

19. Correct Answer: two times

21. Correct Answers:
(—0.873,0),(6.873,0), (0,2.4)
(3,6)

(—°° o)

(o0, 6]

23. Correct Answers:

(0,4)

(—0.002,3.992)
(—o0,00)

[3.992, c0)

25. Correct Answers:

(0.0035,0), (0, 1.1025)
(0.0035,0)
(

—on,c0)

)

27. Correct Answers:
(—10,50),(15,25)
{-10,15}
(—o0,—10)U(15,20)

R — (—o0, —10) U (15,0)

29. Correct Answers:
(-2,5),(0.75,5)
(22,075}
(—2,0.75)
(_°°7 _2] U

[0.75, )
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31.

33.
35.
37.
39.
41.
43.
45.
47.
49.
S1.

Correct Answers:
(—6,10),(-0.5,21)
{-6,0.5}

(-6, 05)

(o0, —6]U[-0.5,00)

Correct Answer: {—3.25,2}
{-10,20}
{~1.5,0,1.5}

Correct Answer:
Correct Answer:

Correct Answer: {—23.162,—16.838}

Correct Answer: no real solutions

Correct Answer: (—oo,—2)U (—0.5, )

Correct Answer: [0,1.1]

Correct Answer: (—6.372,—0.628)

Correct Answer: (—o0,0.09] U[1.11,c0)
(

Correct Answer: (—oo,00)



Section 10.4

1. Correct Answer:
3. Correct Answer:
5. Correct Answer:

7. Correct Answer:

9. Correct Answer:

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.

35.

37.
39.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

8r+51
—5+4+2r
5.6t4+16.4

-7 31
s t3

4y—6

—5.1r+1
98¢ — 49t 4-2
—Tx>+8x+1
—32y? +4y+32
7.5r% —82r —317
—r*+8r+3
Vix+21
VT—6x+5
x+8++/5x+46

1
—5s—14

6t
541241

Correct Answers:

e 2x—7
2x—5
4x—18
4x—9

Correct Answers:

o 3% +dx—
—3x2 4+22x—39

o x> —12x

3

o —27x%—12x

Correct Answer: T (121‘ — 0.3t2) 2 ft2

Correct Answer:

71680
17920 — 1680
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Section 10.5

1. Correct Answers:
describes

{47}

{9}

describes
{‘797‘7578}
{0,9,10}
describes
{-8,-1,1,10}
{0,1,8}

does not describe
{-7,-3,0,5}
{1,2,4,10}

3. Correct Answers:

e does not describe
b {_ 10, _65 _2}
4 {07 4? 77 8}

5. Correct Answers:
e {(3,2),(5,5),(8,0)}
e {3,5,8}
e {0,2,5}

7. Correct Answers:

e does not
e does

9. Correct Answers:

e does not
e does

11. Correct Answer:
ABCDEFGL

13. Correct Answers:

e ACEFH
e ARC

15. Correct Answers:
yes
None, the table could be the table of values of a function.

no
-3
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Section 11.1

1. Correct Answer: 10

3. Correct Answers:

3

4
0
1
7

5. Correct Answers:

e —5
e 15
e —15

7. Correct Answers:

e —15
e —15

9. Correct Answer: —7

11. Correct Answer: —46

13. Correct Answer: 131

15. Correct Answer: 49

17. Correct Answer: —79

19.

Correct Answer:

21.

Correct Answer:

23. 15

(_°°7°°)
(7°°,°°)

=27 -150:3: 1 1

Correct Answer:

25.

Correct Answer:

27.

Correct Answer:
29. Correct Answer:
2:1;3;3:4;5

31. Correct Answer: —2;3; —1;1;0;3; 1; 3;
2;1;3;3;4;9
-2;7,-1;3;0;

33. Correct Answer: -1;1;

2:3:3;7;,4; 11
35. Correct Answer: —2;10; —1;8;0;6; 1;4;
2;4,3;6,4;8

—~1;

81

37. Correct Answer:

39. Correct Answer:

41. Correct Answer:




43. Correct Answer:

45.
47.
49.
51.
53.

5S.

Correct Answer: 9)x|
Correct Answer: |z — 15|
Correct Answer: 9804
Correct Answer: |a+17]|

Correct Answers:

e 5.62ft
o 2.32ft

Correct Answer: —5;3
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Section 11.2

1. Correct Answers:
e is not
e is

e is not
e is not

3. Correct Answer:

(
5. Correct Answer: (—eo, —4)U[7,00)
(

7. Correct Answer:

9. Correct Answer: [3,00)

11. Correct Answer: [—7,6)

13. Correct Answers:
o {n|n>0.5}
e (0.5,)

15. Correct Answer: [16,21)

17. Correct Answer: [—9,—4)

19. Correct Answer: [46.4,114.8)

21. Correct Answers:

o {x|4<x< 14}

e (4,14)

23. Correct Answers:

o {x|15<x<20}

e (15,20]

25. Correct Answer: (—oo,1.3]U(1.66667,0)

27. Correct Answer:
29. Correct Answer:
31. Correct Answer:

33. Correct Answers:

e 22 —10x
e [—38,22)

(
(
(

00, —0.7]
00, —2.83333)
00, —1] U (—0.545455, )
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Section 11.3

1. Correct Answers: 29. Correct Answer: —15,-3
e 4x=13
o dr— 13 31. Correct Answer: 5
e 3.25,-3.25 33. Correct Answer: NONE
3. Correct Answers: 35. Correct Answer: NONE

e 0.333333r=-3
e 0.333333r=7
e —9721 39

37. Correct Answer: 2
. Correct Answer: 0.6, 1
5. Correct Answer: 41. Correct Answer: —0.5

43. Correct Answer: —2.28571,0.181818

a.
’ —1-3 Ry 45. Correct Answer: 0.833333,1.08333
2
4] . 47. Correct Answers:
i o
5 e 1S not
PES: o is
2 Yo e is not
49. Correct Answer:
b.
2 ?
6--—-5/<4
K
?
[4—5]<4
?
|-1] <4
1<4
_2,,
7. Correct Answer: A
9. Correct Answer: —6.66667,4.66667
_6 1
11. Correct Answer: —2,2
L a. {-9,3}
13. Correct Answer: —8,14 b, (—o0,—9) U (3, e0)
15. Correct Answer: —8,3 c. (=9,3)
17. Correct Answer: —4,5 51. Correct Answer: (—eo, —72]U[88,00)
19. Correct Answer: NONE 53. Correct Answer: (—eo, —2]U[8,00)
21. Correct Answer: —4 55. Correct Answer: (1,3)
23. Correct Answer: 4.66667,—2 57. Correct Answer: [—131,121]
25. Correct Answer: —16,—4 59. Correct Answer: (—eo,—1)U(15,00)
27. Correct Answer: 7.5,—2.5 61. Correct Answer: (—0.625,1.875)
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63. Correct Answer: (—eo, —5]U[2.33333, )
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Section 12.1

1. Correct Answer: —2;13; —1;6;0; 1; 1; —2; 13. Correct Answer:

2;-3;3;-2;4; 1 o)
4<>

3. Correct Answer: =2;0; —1;2;0;2; 1; 0; 2l

2;—4;3;—10;4; —18

5. Correct Answer: —2; —1; —1; —5;0; —5; 1; —1;

2;7;3;19;4;35

7. Correct Answer: —2;1; —1;17;0;27; 1; 31;

2;29;3;21;4;7

9. Correct Answer: 15. Correct Answer:

Ak
40
20
‘ ‘ X
—6 4 6
61
—20+
17. Correct Answers:
11. Correct Answer:
y o (0.5,4.25)
of . (0.4
e (2.56155,0),(—1.56155,0)
41 o (—o0,00)
o (—0,4.25]
2 o 4
/ N o {—2.70156,3.70156}
: : e [—2.70156,3.70156]
ds | 14 | D 2 M 6
2+ 19. Correct Answers:
e (—5.59.5)
=41 e (0,-2.6)
o (—0.626603,0),(—10.3734,0)
—67 hd (_°°7°°)
e (—00,9.5]
e 4.6
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o {—8.8541,—

2.1459}

o (—8.8541,-2.1459)

21. Correct Answers:

(—0.2,4.99)
(0,5)
NONE
(7°°7°°)
[4.99,)
11.75

23. Correct Answer:
25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:
33. Correct Answer:
35. Correct Answer:
37. Correct Answer:
39. Correct Answer:
41. Correct Answer:
43. Correct Answer:
45. Correct Answer:

47. Correct Answers:
° (—«n,co)

d [__87°°)

49. Correct Answers:
° (——co’co)

b [__97°°)

51. Correct Answers:
° (——oo’oo)

o (—oo,—1]

53. Correct Answers:
° (——oo’oo)

o [—1,)

55. Correct Answers:
° (——oo’oo)

¢ (-=F]

)

{—3.66987,3.26987}
(—o0,—3.66987) U (3.26987, o)

100 ft
200

8.67595

14

180,180
(4,-5)
(10,—-9)
(—4.1,8.2)
5(x—2)2+5
9(x—8)*+1
—2(x+3)*—1

2(x+1)2+1

57.

59.

61.

63.

65.

67.

69.

71.

73.

75.

87

Correct Answers:
e 5;right
e 3:down

Correct Answers:
e 93.7;right
e 29.6;up

Correct Answers:
° %; left
[ ] g, up

Correct Answers:
o X2 —4x—12
o (x+2)(x—6)

Correct Answers:
o X2 —6x—27
o (x+3)(x—9)

Correct Answers:
e (0,18)
e (—2,0),(-9,0)

Correct Answers:
e (0,—240)
i (_670) ) (_530)

Correct Answers:
e (0,0)
e (0,0),(—38,0)

Correct Answers:
e (0,320)
* (8,0)

Correct Answers:
e (0,125)
* (3,0).(3,0)



Section 12.2

1. Correct Answer: {8,—4}

3. Correct Answer: %, ’75

5. Correct Answer: {9 ++/5,9— \5}

7. Correct Answer: {6,2}

9. Correct Answer: {f 1, _TS

11. Correct Answer: { _5+Tm7 —'5—T\/E }

13. Correct Answer: {2,8}

15. Correct Answer: {—3,-2}
17. Correct Answer: {—4 —V21, -4+ \/ﬂ}

19. Correct Answer: {6,8}

21. Correct Answer: {—1,8}

23. Correct Answer: {—3 —2V1,-3+ Z\H}

25. Correct Answer: { =3 %5

27. Correct Answer: {% — V17,2 + 1V17}

29. Correct Answers:

o f(r)=(r—2*-5
e (2,-5)

31. Correct Answers:

33. Correct Answers:
o F(y)=9(—1)*-11
e (1,—11)

35. Correct Answers:
° (—oo’oo)

o [1,e)

37. Correct Answers:
b (*°°7°°)

b (_°°’8]

39. Correct Answers:
d (700700)

b [*7v°°)

41. Correct Answers:

(_°°a°°)
(_ooa _5]

43. Correct Answer:

1 -
y
(0,12)
10
5,,
3,0)(4,0 X
_ 7
2 e
751

The domain is (—co,cc) and the range is [—,0).

45. Correct Answer:

(r21%) | (0}20)

(_57‘0) (40) X

—6[ —4 -2 2 }\ 6
The

domain is (—eo,0) and the range is (—co, 8!].
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47. Correct Answer:

(0,16)

The domain is (—oe,o0) and the range is [0,00).

49. Correct Answer:

The domain is (—oo,c0) and the range is [—4, o).

51. Correct Answer:

5,,
Y
(%.0) o
X | da | 2 2
5,,
(—3,—9) —10]
—_15¥

The domain is (—eo,e0) and the range is [—9,00).

53. Correct Answer:

Lot

The domain is (—oo, o) and the range is (—oo,

55. Correct Answer:

10 %

25]'

(0,7)
(7273)
‘ ‘ x
16 | 44 | P2 2 4 6
-5
The domain is (—oe,00) and the range is [3,).
57. Correct Answer:
105
y
5 AL
(—1 +/6, 0)(
2 4 6

—10™

The domain is (—oe,00) and the range is [—6,c0).
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59. Correct Answer:

10 %
y
50
(2,3)
eviol/ O\ e
—6 —4 —2 r 2 : 6
(07 - 1)
50
—10*

The domain is (—eo,0) and the range is (—oo, 3].

61. Correct Answer:
104

\373’0)

1,-32)

—40¥
The domain is (—oo,c0) and the range is [—32,0).

63. Correct Answer: —77—2

65. Correct Answer: %

67. Correct Answer: (—oo,6]
69. Correct Answer: [%,oo)

71. Correct Answer: 114.5 ft
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Section 12.3

1. Correct Answer: two real solutions

3. Correct Answer: two real solutions

5. Correct Answer: two non-real solutions

7. Correct Answer: two non-real solutions

9. Correct Answer: r = 6iorr = (—6)i

11.
13.
15.
17.
19.
21.
23.
25.

Correct Answer: t = iort = (—9)i

Correct Answer: x = iv/3orx = (—i) /3

Correct Answer: y = (—4) + 6iory = (—4) — 6i
Correct Answer: y = 5iv/Tory = (=53) iv7
Correct Answer: r =3 +iorr =3 —1i

Correct Answer: t = (—1) +iv/3ort = (=1) —i/3
Correct Answer: No

Correct Answer: Yes
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Section 12.4

1. Correct Answer: —7 + —3i

3. Correct Answer: —3 +13i

5. Correct Answer: —4 +9i

7. Correct Answer: —3 +3i

9. Correct Answer: 1+ 2i

11. Correct Answer:
13. Correct Answer:
15. Correct Answer:
17. Correct Answer:
19. Correct Answer:
21. Correct Answer:
23. Correct Answer:
25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:

33. Correct Answer:

9—-2i
10411
—87+ —76i
—16+—30i
148 4 0i
—43 —59i
47 —25i

—0.5+2.5i
—0.945946 4 1.32432i
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Section 13.1

1. Correct Answer:
ADFGI

3. Correct Answer:

5. Correct Answer:

7. Correct Answer:

9. Correct Answer:

11.
13.

15.

17.

19.

21.
23.
25.
27.

Correct Answer: (—oo,—3) U (—=3,4) U (4,)

Correct Answers:
o (—,2)U(2,0)
hd (_0073) U (3’00)

Correct Answers:
hd (_°°7 _3) U (_37°°)

o (—oo0,—2)

Correct Answers:

280
288
11

290

Correct Answers:

o 7
o 46

Correct Answer:

Correct Answer:

Correct Answer

Correct Answer:

149
500
- 1.8,4.45
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Section 13.2

1. Correct Answer:
CGJK

3. Correct Answers:

lL,r# -2
1,r#£ -2
1,r#2

—1,r#2

5. Correct Answer:

7. Correct Answer:

1
st #F 4

6
w9 X # 7

9. Correct Answer: —y+10,y #3

11.
13.
15.
17.
19.
21.
23.
25.
27.

29.
31.
33.
35.
37.
39.
41.
43.
45.

47.
49.

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer: —
Correct Answer:
Correct Answer: —

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer: —

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answer:

Correct Answers:

—4,r#£ -8
26,1 #0
— 5 X £6
—ax# 1
Ty #3

5r+3 V# 1

_%7(_()07“’)

x+3 x#_s

x—=57
oy # -l
A2

= r#landt #£0
x+4x+16 x£4

Toxt4d

Xt
xt—1

y+3x

r—6t
r+3t

_ 3tr—4
Str+3

o X #2
L y#—Sandy#0

r#—2andr#0

2r+1 ’

o L t#25and1#0

51. Correct Answer:

BDF

53. Correct Answers:

7
~

g
55. Correct Answer:

57. Correct Answer:

59. Correct Answer:

61. Correct Answer: 7%

1.66667 and x # 0

63. Correct Answer:
65. Correct Answer:
67. Correct Answer:
69. Correct Answer: —
71. Correct Answer:
73. Correct Answer:

75. Correct Answer:

77. Correct Answer:

—1

79. Correct Answer:
81. Correct Answer:
83. Correct Answer:
85. Correct Answer:
87. Correct Answer:
89. Correct Answer:
91. Correct Answer:
93. Correct Answer:
95. Correct Answer:

97. Correct Answer:

94

—00700)

2(y+5) y#3andy #4

(Hi or#2andr#£4

—mt# —3andt#1

,x # 0.888889 and x #
1
W,(—ogoo)
4, r#0
30 # = (=3)
= 6,[#35andt7é -3.5
Blx—1),x#0andx# 2

85+10
10570

9rr+1100 r#0andr#—10

Jé‘% x# —5and x#2 and x #

4(x+r)
dx+r

Y

3t
6(r+5x)

2r

t+4r
3

_ 1
Xx+4r)

Y (yr—4)
5y(r+6y)



Section 13.3

1. Correct Answer: 6,y # —2

3. Correct Answer: 5,r # —5

5. Correct Answer: fﬂ%l,t #7

7. Correct Answer: —l%],t #£6

9. Correct Answer: 3%, (—oo,o0)

11. Correct Answer: —247_ (—oco,00)

(=6)(y+5)’

—r+2 (7
(r+4)(r+6)°

oo, 00)

13. Correct Answer: ,

15. Correct Answer: H%,t #1

17. Correct Answer: ﬁ,x #1
19. Correct Answer: —y%(),y #* -6
21. Correct Answer: —r_%s,r #5
23. Correct Answer: =2t # 4

25. Correct Answer: t2t #5

27. Correct Answer: —Xf—l,x # —1

29. Correct Answer: }5}3 Y#8

31. Correct Answer: fi—rz,r #*—4
. _6
33. Correct Answer: 2.t #0

35. Correct Answer: %7(—00700)

ASy—14) -~ oo
e  H

39. Correct Answer: Tr+ 8y

37. Correct Answer: —

41. Correct Answer: &

9y
2
. 202120 4573
43. Correct Answer: =z 5=, =Gz, or
L2
45. Correct Answer: o
6y

47. Correct Answer:



Section 13.4

1. Correct Answers:
° 32

1

®* 13

&

3. Correct Answer: %

5. Correct Answer: 7&

7. Correct Answers:
7

° 3

o UL

tx

S

9. Correct Answer: 4:67,s #0

11. Correct Answer: 10€+55 r#0and r# —5

13. Correct Answer: mg(:';ié) (—o0,00)
)

15. Correct Answer: Z()gﬁ x#0and x # —2

. 6(5r—24)
17. Correct Answer: == ,t #5

5r+24
19. Correct Answer: 255 r # 8

4m+1)
21. Correct Answer: Gt 3m=T) ™" #* —

23. Correct Answer: WQ #1landy+# 10

25. Correct Answer: ¥ %(1525 ,y#—Sandy#5

27. Correct Answer: % £ —100
29. Correct Answer: 27

3
31. Correct Answer: 4%

33. Correct Answers:

X

tr

xr
t

.1 1
35. Correct Answer: W O eE

y+3r
y=2r

37. Correct Answer:



Section 13.5

1. Correct Answer:

3. Correct Answer:

5. Correct Answer:

7. Correct Answer:

{3}
{3}
{9}
{4}

9. Correct Answer: {—3}

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
51.
53.

55.

57.

59.

Correct Answer

Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

Correct Answer
Correct Answer

Correct Answer

Correct Answer:

Correct Answer

Correct Answer

Correct Answer:

Correct Answer

Correct Answer:
Correct Answer:
Correct Answer:
Correct Answer:

Correct Answer:

)
{6}
{4}

{=(=6)}
: no real solutions
: no real solutions
{63
{=(=5)}
- {10,—4}
s {2}
LS5

3.-2}
{-14,-7}

r=8c—8
6

Correct Answers:

e 9
e 31.5

Correct Answers:

e 6
o 12

Correct Answers:

e 50
e 75

Correct Answer

2 11.3275

97

61. Correct Answer: 10

63. Correct Answers:
mi
o 4 T

° 3.5%

65. Correct Answer: 15.7589 %

67. Correct Answers:

e 4.54 hr
e 8.04 hr



Section 14.1

1. Correct Answer: 8.06

3. Correct Answer: 3.94

5. Correct Answers:

o 1
o —1
o —1

7. Correct Answer: (—,2]

9. Correct Answer: |
11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.

39.

41.
43.
45.

=5

17>

~)

Correct Answer: (—oo,00)
Correct Answer: (—eo, 10]
Correct Answer: (3,00)
Correct Answer: [3,00)
Correct Answer: ( oo, %}
Correct Answer: (—eo,4)
Correct Answer: (%,oo)
Correct Answer: (—oo,00)
Correct Answer: (—oo,o0)
Correct Answer: (—oo, Z51) U (L, o0)
Correct Answer: (?37 )
Correct Answer: [4,00)
Correct Answer: (4,00)
Correct Answers:

e 1.5411

e 219.04
Correct Answers:

e 492373

e 57.9058
Correct Answer: 44.27

Correct Answer: 74

Correct Answer: 3v/13

98



Section 14.2

1. Correct Answers:

e 9
¢ DNE
e -9

3. Correct Answers:

o2
)
)

7. Correct Answer: 3

9. Correct Answer: 8

11. Correct Answer: 4

13. Correct Answers:

o 1
o —1
o —1

15. Correct Answers:

o 2
e DNE
o 2

17. Correct Answer: 4.44129

19. Correct Answer:

21. Correct Answer: x

23. Correct Answer:
25. Correct Answer:
27. Correct Answer:
29. Correct Answer:
31. Correct Answer:
33. Correct Answer:
35. Correct Answer:
37. Correct Answer:
39. Correct Answer:
41. Correct Answer:

43. Correct Answer:

5. Correct Answer: é

Uil

~ _
00| — If—
W=

S
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45. Correct Answer:
47. Correct Answer:
49. Correct Answer:
51. Correct Answer:

53. Correct Answer:

~ ~ W wn
ISE N
QI — n|—

<
=



Section 14.3

1. Correct Answer:
3. Correct Answer:

5. Correct Answer:
7. Correct Answer:
9. Correct Answer:

11. Correct Answer.

13. Correct Answer:

15. Correct Answer: 2=3¥2

17. Correct Answer:
19. Correct Answer:

21. Correct Answer:

48—6v/21
43

91-13V13-7v2+26
=36

30—15v11-2v3+V33
7
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Section 14.4

1. Correct Answer:

3. Correct Answer:

5. Correct Answer:

7. Correct Answer:

{100}
{8}
{4}

no real solutions

9. Correct Answer: {—96}

11.
13.
15.
17.
19.
21.
23.
25.
27.
29.
31.
33.
35.
37.
39.
41.
43.
45.

Correct Answer

Correct Answer

Correct Answer:

Correct Answer:

Correct Answer
Correct Answer.
Correct Answer
Correct Answer
Correct Answer.
Correct Answer

Correct Answer

Correct Answer:

Correct Answer

Correct Answer:

Correct Answer:

Correct Answer
Correct Answer

Correct Answer

{4}

- {36}
t=13
r=1

: no real solutions
%)

- {219}
(%)

- {100}

- {—999}

- {45}

{3}

- {4.86448}
7212

L1
Im2Cy2

27 ft
29 cm

s 3.2 ft
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